Lgu: CITY OF CALAPAN

PURCHASE REQUEST

Fund: GENERAL FUND

Department: CEPWD PRNo: _o3l% Date: _%]0] [af
Section: FPP: 8751
s ’ Unit
Item No. Unit Item Description Quantity o Total Cost
DT #1
1 pail Gear Oil 1 4,670.00 4,670.00
2 pes Oil Seal RR Outer 2 370.00 740.00
3 pes Belt 1 390.00 390.00
4 lot Radiator Overhauling 1 8,200.00 8,200.00
5 pe Radiator Cap 1 290.00 290.00
6 lot Gen. Cleaning (Freon, Oil) 1 6,200.00 6,200.00
7 pcs Access Valve 2 370.00 740.00
8 set Epoxy, Marine 1 750.00 750.00
9 pes Relay 24v 24 390.00 9,360.00
10 pcs Fuse 10 40.00 400.00
11 pc Compressor, Motor 1 16,250.00 16,250.00
12 lot Flushing Condenser 1 2,150.00 2,150.00
13 pc Filter Drier 1 1,250.00 1,250.00
14 lot Labor; replace compressor & drier 1 4.600.00 4.600.00
DT #2 =
15 pc Hydraulic Hose 1 3,300.00 3,300.00
DT #3
16 pes Oil Seal 2 390.00 780.00
17 pcs Air Cleaner 1 1,350.00 1,350.00
18 sets Tire with Inner Tube & Flap 2 23,600.00 47,200.00
19 lot Windshield $ Window Tint, Medium 1 9,100.00 9,100.00
20 pes Armor All 1 350.00 350.00
21 pcs Carbuddy Scent 4 450.00 1,800.00
22 pcs Air Freshner 2 150.00 300.00
DT#4 3
23 ft P. V. Tube 2 90.00 180.00
24 pcs PV Connector 2 125.00 250.00
25 pcs Ball Joint 2 370.00 740.00
26 lot Gen. Cleaning 1 6,200.00 6,200.00
27 pcs Drier 1 1,250.00 1,250.00
28 pes Indult Switch 1 850.00 850.00
29 pc Blower Motor 1 7,600.00 7,600.00
30 pc Compressor Motor 1 16,250.00 16,250.00
SUBTOTAL 153,490.00
Purpose:  repair and maintainance of various vehicles( heavy equipment, light equipment, service vehicles)
Requested by: Cash Availability: Approved by:
Signature: =
Printed Name: | RIG &i.’%BUTAR NICASIO D.&‘l’ APANG
Designation: City Engineer <7210 City Tretsurer

PR 2021 v. 0




Lgu: CITY OF CALAPAN

~ PURCHASE REQUEST

Fund: GENERAL FUND

Department: CEPWD PRNo. 02U Date: _b [07[2¢
Section: FPP: 8751
. Unit
Item No. Unit Item Description Quantity Cost Total Cost
31 pc Filter Drier 1 1,250.00 1,250.00
32 pc Condenser 1 5,600.00 5,600.00
33 pcs Oring 4 110.00 440.00
34 ft Hose Assy 3 1,250.00 3,750.00
35 pc Expansion Valve 1 950.00 950.00
DT #05 ,
36 pc Leafspring 1 3,580.00 3,580.00
37 pcs Center Bolt 2 260.00 520.00
38 pcs WD-40 2 590.00 1,180.00
39 pes Gasket Maker Clear 2 185.00 370.00
40 pcs Filter Drier 5 80.00 400.00
41 pes Fuse 20 30.00 600.00
42 set Fuse Box, 24v 3 1,220.00 3,660.00
43 pes Contact Cleaner, Big 390.00 1,950.00
SKM 721 .
44 pc Battery 3 SMF, Gold 1 12,550.00 12,55000
Adventure -
45 pc Tire Vulcanize 1 320.00 320.00
ROAD ROLLER -
46 pcs Round Bar 12mm 5 335.00 1,675.00
47 pes Round Bar 9mm 5 185.00 925.00
48 pc G.L Pipe #1 Sch. 40 1 1,200.00 1,200.00
49 pcs Angle Bar 1/4 x 2 2 1,950.00 3,900.00
50 pes Flat Bar 1/4 x 1 2 430.00 860.00
51 yrds Upholstery Fabric 6 480.00 2.880.00
52 yrds Foam #1/2 2.5 625.00 1,562.50
53 yrds Vinyl Plastic #20 2 680.00 1,360.00
54 mtrs Metal Screw 2 125.00 250.00
55 mtrs Roof Verge 2.4 360.00 864.00
56 box Tucker Pin 1 170.00 170.00
57 pcs Alloy (120 cm) 2 240.00 480.00
58 set Side Mirror 1 870.00 870.00
SUBTOTAL 54,116.50
Purpose: _repair and maintainance of various vehicles( heavy equipment, light equipment, service vehicles)
Requested by: Cash Availability: Approved by:
Signature: 3 & &
Printed Name: | RIGO N A. ABUTAR NICASIO ATAPANG
Designation: City Engineer Q37 City Treasurer

PR 2021 v. 0




Lgu: CITY OF CALAPAN

PURCHASE REQUEST

Fund: GENERAL FUND

Department: CEPWD PR No.: D316 Date: 0")! b7 | a8
Section: FPP: 8751
. Unit
Item No. Unit Item Description Quantity Cost Total Cost
Road Roller
59 pc Push/Pull Swtich 1 135.00 135.00
60 set Carbon Brush 1 85.00 85.00
61 Itr Oil (Diesel) 1 350.00 350.00
62 gal 01l (Diesel) 1 1,250.00 1,250.00
63 tank Oxygen Refill & Acetylene 1 3,850.00 3,850.00
64 pcs Spray Paint 18 385.00 6,930.00
65 pcs Spring 8 75.00 600.00
66 pcs Bolt & Nut 7/16 8 45.00 360.00
MOTORPOOL %
67 set Oxygen/Acetylene 1 3,830.00 3,830.00
68 pc Drill Bit 7/16 1 660.00 660.00
69 pes Bolt & Nut 7/16 8 50.00 400.00
Loader "
70 pc Hydraulic Hose 1 9,850.00 9,850.00
71 pails Hydraulic Oil 5 4,650.00|  23,250.00
72 set Hydraulic Hose 1 8,950.00 8,950.00
Bulldozer -
73 pes Allen Bolt #17 8 45.00 360.00
74 pcs Allen Bolt #14 8 85.00 680.00
73 pe Hydraulic Hose 1 8,550.00 8,550.00
76 pc Oil Filter 1 4,770.00 4.770.00
77 pe Machining & Tooth Cutting of Drive Shaft 1 5,450.00 5,450.00
78 pc Reface Center Housing 1/4" Outlet 1 6,850.00 6,850.00
79 pc Reface Worn-Out Housing 1 11,060.00 11,060.00
80 pes Reface (Grinding) Gear Shaft 2 9,340.00 18,680.00
31 - Assy. Lapping gf Housing & Shaft, 1 9.870.00 9.870.00
Reface of Bushing
82 lot Assorted Materials Bushing & O-Ring 1 7,700.00 7,700.00
Isuzu Truck -
83 pc Water Pump Assy 1 6,850.00 6,850.00
84 pes Silicon Clear 2 285.00 570.00
85 pe Redtifier Diode Assy 1 90.00 90.00
86 pes Electrical Tape, Big 5 90.00 450.00
SUBTOTAL l42=450, oW
Purpose:  repair and maintainance of various vehicles( heavy equipment, light equipment, service vehicles)
Requested by: Cash Availability: Approved by:
Signature:
Printed Name: RIGO N A. ABUTAR NICASIO &ATAPANG MARILOU F. MORILLO
Designation: City Engineer o 31 City Treasurer City Mayor

PR 2021 v. 0




LGgu: CITY OF CALAPAN

PURCHASE REQUEST

Fund: GENERAL FUND

Department: CEPWD PR No.: 03|t Date: 0% I o7 ! 26
Section: FPP: 8751
o all . Unit
Item No. Unit Item Description Quantity Cost Total Cost
Grader
87 pes Battery 2D 2 14,750.00 29,500.00
88 pes Battery Terminal 4 80.00 320.00
89 pes Fuel Strainer b 90.00 180.00
90 lot Gen. Cleaning of Aircon 1 4,850.00 4,850.00
91 lot Welding/Machining of Hub, Tie Rod, 1 20,100.00 20.100.00
Hub Sleeve Bearing
92 kls Welding Rod. Special 25 165.00 4,125.00
93 pes Cutting Edge 2 7,530.00 15,060.00
94 pcs End Bit 2 8,490.00 16,980.00
95 s I13)1(;1: Flow 5/8 x 2 1/3 with 18 pcs 5/8 18 116.00 2.088.00
96 pcs Bolt, Flow 5/8 x 3 with Nut 5/8 14 145.00 2,030.00
97 lot Full Charge of Freon 1 3,050.00 3,050.00
98 lot Oil 1 550.00 550.00
99 i Labor: Pull-Out Re-install of ) 4.100.00 4,100.00
Compressor Motor
100 pc Clutch Coil 24v 1 3,850.00 3,850.00
Multicab =
101 rolls Automotive Wire 30 mtrs 2 1,310.00 2,620.00
102 pc Flasher Relay 12v 1 660.00 660.00
103 pc Relay 12v 1 185.00 185.00
104 pes Electrical Tape, small i, 5 60.00 300.00
105 pc Pipe Cutter Tubings A e v 1S 850.00 850.00
106 pe Flexible Hose: =~ — = # O 87000 870.00
Backhoe Al EUA Qé
107 pc Hydraulic Filter -y neEle T 9,870.00 9,870.00
108 pail Hydraulic Oil 10 , 3> 4,550.00 9,100.00
109 pes Oil Seal Tl/gl””\ il r 1,105.00 2,210.00
110 pc Fabrication of Cylinder Housing 1 19,215.00 19,215.00
111 tank Acetelyne Refill 1 2,725.00 2,725.00
112 tank Oxygene Refill 1 890.00 890.00
113 pcs Hydraulic Hose 3/4 x 3 ft 2 1,770.00 3,540.00
114 pcs Bronze Washer 6 165.00 990.00
115 pes Spray Paint , Mettalic 9 385.00 3,465.00
116 set Hose Assy 1 1,250.00 1,250.00
117 lot Freon 1 1,620.00 1,620.00
118 lot Labor:Change Oil 1 1,150.00 1,150.00
119 kls Welding Rod, Ordinary 40 128.00 5,120.00
SUB-TOTAL 173,413.00
GRAND TOTAL 523,440.5)
Purpose: _repair and maintainance of various vehicles( heavy equipment, light equipment, service vehicles) r
Requested by: Cash Availability: Approved by:
Signature: 3.5 247
Printed Name: | RIGO N A. ABUTAR N}QASI . CATAPANG
Designation: City Engineer ) 70 City Treasurer

PR 2021v. 0




